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The phobia about ‘poverty’ or ‘money’ problem is called :
(A) Androphobia (B) Peniphobia
(C) Theophobia (D) Ergophobia
Choose the correct alternative of verb :

Ketaki hopes, she pending work by five today.

(A) will have completed (B) will completed

(C) will have been completed (D) will be complete

Choosé the correct ‘question tag’ to the given sentence :

‘Manasi ventured to obstruct my path.’

(A) ventured not she ? (B) wasn’t she ?

(C) didn’t she ? (D) didn’t Manasi ?

Choose the correct opposite of :

‘Commodious’

(A) numerous (B) leisurely (C) limited (D) expensive

Choose the part of the given sentence has an error. If no error, the answer is (d).

The wife is not / yet acquainted with / her husband’s liking / No error
a b € d

(A) a (B) b (C) ¢ (D) No error

[S-1/6-B]



31.

32.

33.

34.

3s.

36.

Choose the correct degree sentence/sentences from the given
“Mumbai is one of the richest towns.”

(A) Mumbai is richer than many other towns.

(2) Mumbai is richer than any other town.

(3) Very few towns are as rich as Mumbai.

(4) Very few town is as rich as Mumbai.

(A) Only 1 (B) 1 and 4 (C) Only 3
Choose one word substitution for the given :

‘One who does not believe in God'.

(A) Atheist (B) Orthodox (C) Religious
Identify the figures of speech in the given line :

‘Fools rush in where angels fear to tread.’

(A) Epigram (B) Pun (C) Irony
Choose the correct ‘Passive Voice’ sentence of the given :
‘We keep our jewellery in the bank.’

(A) Our jewellery is kept in the bank by us.

(B) Our jewellery was kepf in the bank by us.

(C) Our jewellery were keep in the bank by us.

(D) Our jewellery is keep in the bank by us.

Choose the correct spelt word :

(A) Leutenant (B) Lieutinant (C) Lieutenant
Rearrange the parts (PQRS) to form the correct sentence :

(P) will normally be granted
(Q) candidates should note
(R) that no request for

(S) change of centre
(A) PQRS (B) RQPS (C) PSQR
[S-1/7-B]

of the given sentence :

(D) 1 and 3

(D) Priest

(D) Climax

(D) Liutenant

(D) QRSP



37.

38.

39.

40.

41.

42.

The cry of ‘pigs’ is called :

(A) bleat - (B) grunt
(C) bray (D) gibber
Choose the correct alternative :

May we have ___ pleasure of your company ?
(A) the (B) an (C) a
Indentify the underlined clause in the sentence :

The host already had taken dinner when the guest arrived.

(A) Adverb clause of time

(B) Adverb clause of place

(C) Adverb clause of manner

(D) Adverb clause of condition

Choose the correct ‘synonym’ of :

‘inexplicable’

(A) confusing (B) chaotic (C) unconnected

‘To fly off the handle’ means :

(A) to take off (B) to be indifferent

(D) no article

(D) unaccountable

(C) to dislocate | (D) to lose ohe’s temper

Choose the correct indirect speech of the given sentence :
The manager said, “Well, what can I do for you ?”
(A) The manager asked well what he could do for him.

(B) The manager wondered what he could do for him.

(C) The manager wanted to know what he could do for him.

(D) The manager said that what he couldn’t do for him.
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43. Choose the correct ‘Wh-Question’ to get the underlined part as an answer :

“He was dismissed from his service because they found him dishonest.”

(A) Why was he dismiss from his service ?
(B) Why he was dismissed from his service ?
(C) Why was he dismissed from his service ?
(D) Why he dismiss him from his service ?
44. The young one of ‘deer’ is called :
(A) Fawn (B) Cub (C) Calf (D) Cygnet

45. Select the combination of numbers so that letters arranged accordingly will form a
meaningful word : '

E L G N I M
1 2 3 4 5 6

(A) 312654 (B) 654321 (C) 653214 (D) 356214

Read the passage and choose the correct answer : [Ques. No. 46 to 50]

In the highest sense religiion is an intensely individual issue. But there is a national question
also. We must hold together, And we cannot hold together only on the strength of police
regulations. An internal regulator of conduct is absolutely necessary. Will men be good and
wise without the aid of religion ? As modern life has multiplied desires without the corrective
of a sense of spiritual values, knowledge of modern science does not reduce either greed or
lust. Indeed it has nothing to do with the criminal disturbances of the mind. On the contrary,
if finds fresh tools for greater indulgence in all forms of greed, lust and anger. It is true that
a sense of shame by itself often prevents over misconduct. But it does not go to the root
of the mischief: it does not stop undesirable mental activities. The only thing that can prevent
or restrain these evils is the religious sense.

46. The worst thing about modern science is that it has :
(A) produced dangerous weapons
(B) spread new superstitions
(C) contributed to the decline of our values

(D) discredited all religions
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47.

49.

50.

S1.

52.

The statement “We must hold together” means that we should :

(A) be politically united (B) work together

(C) be spiritually united (D) keep up our nation’s prestige
The author holds that the perfect remedy for man’s evil propensities is a...
(A) sense of shame

(B) religious sense

(C) combinaiton of a sense of shame and religion

(D) sense of good conduct

According to the author, religion is essentially a :

(A) matter having national relevance

(B) body of rules and regulations

(C) social matter

(D) sacrifice of worldly desires

The author thinks that in the modern times :

(A) the police have grown very powerful

(B) peoples needs have increased

(C) politicians have become corrupt

(D) we are practising several faiths
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